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logy log; VTyTV7 7 AT, For w0 8 2

1.
(a)  3log,7
(B I—S]ngﬂ'i"
€} 1-3log. 2
{d} 1
8
2. afg Feft aFm i ool =1 9am 92« afn
dmew 52, AR g e SRm A 20
(a) x==10
by =1<x<0
ie] Decx <10
(d} ==710
3. et === o famm i
1. '.i:+:|-::!—l
. I '
=i ‘(uﬂi-hx-rx—c-i-ﬂ-—em
X g2
3. #x?— 5x + ab
2
4| e =
x? _ax + bt
= 1 A&
o X x+5
394 H 8 wA-E it =mas § 7
(a) “Haer 1,4 305
(by “HEE 1,4, 43S
fe)  HEE 2, 49175
(d) EE 12
YPL-S-BLU

b.

(2-a)

om a SR A St a2
(ad A=Al

h) A=A

ey A=Al

idi A=A

R A, A TiEd 8§

2 A, B 3 C o5 5o AywE F swegey
7, @ Fefafas & 8 shm ad F 20
(a} AUBMNCI=AUB NIAUC)
by AUAUBI=B NAUA

el AUBUCI=CNB' NA

dy ANBUC=AUCINMBLUC

TE A AT TE R

ur #hf gode die 5001 F 95 9@ T8 =
et &1 A x # 157 F00.50 2 9% g9

_,"",-, SINEe UV | -
K159 x fhas i 2 9
(a) 2480
(b 2481
(el 2482
idl 2483
ﬁ“ﬂ:—l—'ﬁ+-ll-!--%+ 1 A R AT
9 '
ial E—u

g

g

bl =
20

) 2
4

a

o 3
"B




1.  What is the value of log, log; 1'?4?-.5 equal
ta ?
tal  Flog, 7
by 1-3log,7
&) 1-8log,2
T
iy -
B
2, If an infinite GP has the Aret term x and the
sum 5, then which one of the following is
correct 7
(a) x<=10
b} —-1<x<0
ey Ne=x<10
dy x>10
4. Consider the follwing expressions :
1. X+ K — .,
X
2 Jﬂ_.--:1+l;u|:+:n:—1:+-'5]-a-i2
x x
3. dx*—5x+ab
Zz
4,
x* —ax +b?
1 2
A =
x x+5
Which of the above are rational expressions 7
{a) 1,4 and 5 only
{b) 1,3, 4and 5 only
) 2,4 and 6 only
(d}y 1and2only
YPL-5-BLU

4.

7.

(3-A)

A square matrix A is called orthogonal if
(a) A=aA%

by A= ;‘L_1
ey A=A
(d) A=A

where A' is the transpose of A,

If A, B and C are subsets of a Universal set,
then which one of the following is not correct ¥

fa} AUBNCI=(AUBINAUQC
by AUAUBI=(BNA UA
ey AUBUO=CNB NA
idi (ANBUC=AUCINIBUCLC)

where A is the complement of A.

Lt % be the number of integers lying between

2999 and 8001 which have at least two digits
wyuad, Lhen xr'm;uqual to

(a) 2480
(b} 2481
(c) 2482
id) 2483

Thesumuft.humriesﬂ—l+%—% 1

equal to
@ 2
{hi 21
e %
CI




ﬂ#ﬂ#wwﬂwaﬁﬁ?aﬁaﬂaﬂ#ﬂ# 11.
77 (02) wy=T & 9 FHa:
300 @19 1 v @ o | 97 g o
= 125 B = Beee Se0 9EE B, 146 BE
Wl Feats weE THs 2 3N g0 vl w= Afm
e wEE R | sz mm wA E, W A Ee i A
dte-dtw 21 T Eorn TEe e §

8. Taa am o dF ww wen v s # 12.
ial 14
thy 21
e} 28
d) 3b

9. T om dmdls FEE wE @ d@e TEg

o & 7

fa) 196
(b) 228
(el 254
idl 268

10, Af% o 3§z 0), fGEm gitEo 22 s ox-p=0
% g &, A o =aE - i oo + B WE

xEEE,EﬁT T

(a) Fremom -
by Tiewem am -%%

) wEAmEE L#

() a:ﬁaaﬂtrnﬁ%t

¥PL-S-BLU (4=A)

(2 + 3x)' % fug s # e vy @1 s w0
27

{a) &

by 12

(c) 108

(d) 216

uh @ wrEm A F fou, Feafafies @ a9
o {Rireand) @O A # 2
(Alyrlaa

1

2, detiA =
Sl =y

3. (A=A R A wm wf (S 2

fra fam me 52 w1 W@ W= owd I 9fe

(a) ad 13R 2

bij G 2 S0 )

() aw 13003

) 1,23hR3
x vy 3

anf (x? 597 9| & wanm H,
x?  1oy® 27

frferfian # & Fan T (ge) AR
27

ah x-3
bl x-y¥
e} y=3

(d) x—3y



Congider the information given below and
answer the fuo (02) items that follow :

A survey was conducted among 300 students.
It was found that 125 studenis like to play
cricket, 145 students like to play foothall and
a0 students like to play tennis. 32 students
like to play exactly two games out of the three
ERmes,

8. How many students like to play sll the three
gamoes 7
fal 14
(b1 21
(e} 28
(dr 35
9.  How many student=-1ike to play exactly only
one game ?
I 196 -
N Turning Dreams Into
{h) 228
el 264
idy 268
10, If o and f§ (= 0) are the roots of the quadratic
equation x* + ux — i = 0, then the quadratic
expression - %= +ax + {} where x s R has
1
{a) Least value — 1
8
(b} Leastvalue - =
1
te)  Greatest value 3
- 9
id) Greatest value i
¥YPL-5-BLU

11.

12.

13.

(S-A)

What is the coefficient of the middle term in
the hinomial expansion of (2 + 8x)t 2

lal 6
thy 12
e} 108
dy 216

For a square matrix A, which of the following
properties hold ?

1. Ailrt=aA

1

2. detA M=
det A

3, (1Ar? =3A") where L is a scalar

Select the correct answer using the code given
below :

VR | l_tmi Emh"
iby 2 and 3 only
Real/tjy, since 2001
{e 1 and 3 anly
idy 1, Z2and3d
Which one of the following [actors

does the expansiom of the determinant
% ¥ 3

X By 9 | contain 7
' 1wt 27

{a) x-23

by =x-—¥

ey v—3

idl =-—3y



cosi— B - ginl— g / 18
14, =% w HREEH :
—-sin(= 0}  cosi— @)
TSR ¥ & 7
cosfl  —sindl)
fan
~&inf CosE HJ
costl  sInB
(b
sinf  ecosfd
coal sind
ek
—ginfl cosd
17.
costl  —sind
()
=ind eos i)

. [4+iJ§T’“+ [_1-1JE

2 4
@ oi= -1 &7
fa} 3
by 2
icy 1
idy 0
YPL-S-BLU

2

dn
] =1 W F R,

(6—A)

17 forahz figendt & ol & 5 Ramndt Taarh =t
" £ 1 11 Taenfedi 6 vw An 0 Re

il @ T A weAt R g e w0
(a) €17, 11)
b C{12,8)

e} C7,5=C(63)

(d} Ci5, 3)xC{12 8)

logg 27 + log, 32 1 71 70 # 2

T
(al E
, 19
ih _h=,
) .E
ey 4
d) 7

18, 75 A 3 B vFEnE Wi & gy @i

sz, at (AR feemeh i & 9
(n) Blal

by AlB

) BIA

idi A'B




14.

15.

What is the adjoint of the matrix

i posi—8) —sinl= 8 .

| — ginl— B goal=H) -

coafl  —ainb)
iP5

—ginA oo b |

cost sind
(b

(gind  cosd

cosh  sing
)

—sinfh  cosf

|f1:~r_rﬂ+] —Hinl-.'iJ
idi

| gin b Lol

What is the valuae of

25 (24

2

where i= .,llr—_l ?
)
by 2
(el 1

di O

¥PL-5-BLU

16.

17.

18,

L T=A)

There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
team of 11 players be selected so as to include
3 bowlers ?

fa) €711
b €12, 8)
e) (17,5} = C(B,3)

id) GG 3=C02,8)

What is the value of log, 27 + log, 32 ?

7
T
ta T
18
b} =—
(el 4
) 7

If A and B are two invertible square matrices
of same order, then what is (AB) ™ equal to 7

@ Blal
(b} A“l1B
ey Bla
d) a'p




19,

20.

21,

a2 a+b+e=0 B, A

e e b

e bh-x a

b A C—x
& B 0§ UF B B

ial x=4a8

_ [Ba®+b?ie?)

]
& 2

Z 2. 3
i ’“Jﬂn +: %)

d) =x=0

nﬂmﬁﬁmfmm&m[ :

1 A AR T ELT
(a) 16

(b) —18

e} B

i -8

weffm frem

2x 4y -z =5,
H:—Ey+2:=53ﬂi
bx—-dy—-z= 16

(a) HETA 2

(b)  #E R, U afpdE e S we
(c) W B, A FAH Bl o WA

id) w1 B s § wsa F oy

yE B

YPL-5-BLU

22.

(8-A)

T () & wEE & Hay § Fretefan o
HFMEd B 7

(a} T HEEE E
) ¥ 3 AR rsan wa #

(c) & U wHATE T T #
dy o H A wE A

afg u, v 3w (B aoene) ws uiter Aef
(GP) & pd, qf o & = 3, @ oo
nu p 1)

Inv g 1| % "o #

{e) (p—-glig=r)ir-p)

idl lmu=xinvzinw

R AT (1 4+ x20 % fue o # wen o2 =
Eﬂiﬁnﬁaﬂtr1+x}h'1ﬁ5ﬁqﬁmﬁiﬁ
=g w5l & e p o ¢ # | Feefafen dEl §
B A wEY W R 7

() a>p4y

bl o<p+y
ioh a=f+7y
(dy w=fy



19.

20.

21.

YPL-S-BLU

If a4+ h+c=0, then one of the solutions of
8 —X © b
b-x a =0 is
b a C—X
ial xX=an8a

(bl

Z(a* +b¥ 4y
) uw
[d}

What should be the value of % @20 that the
2

nmtrin[
-3 X

] does ot have an inverse ¥

fa) 18

(b} —186

(e} 8

{(d) -8

The sy=tem of equations
m+y—dz=05,

Ix—-2v+ 2z =5 and
bx-dy-z=18

tal
(b
el

is inconsistent
is congistent, with a unigue solution

ia conststent, with infinitely wmany

sulutions

id) has its solution lying along x-axis in

three-dimensional space

(8=A)

Which one of the following is correct in respect
of the cube roots of unity 7

{a) They are collinear

ik} They lie on a circle of radius v3
ic} They form an equilateral triangle
id) MNone of tha above

If u, v and w {all positive) are the p', q'" and
rb terms of a GP, then the determinant of the

inn P 1
matrix | In v q 1[is
In w r 1
tal 0
b 1
e} p-gilg—r)ir—pl

(dl Imusinvelnw

Let the coefficient of the middle term of the
hinomial expansion of (1 + ©"® be o and those
of two middle terms of the binomial expansion
of (1 + x¥" -1 be P and y. Which one of the
following relations is correct 7

{a) a>P+vy
b} a<P+y
e} c=f+y
(d}y o=py




25 AR A= xR

l=xs1l,
BalyeR:-1lsys st s AaxBw
mg.ﬁ-ﬂ:lh,wﬁ AxB:x?ayi=1
AT gftariag 8 |

fafafioa § & sh.m e adt 2 7
(a) 8, A B U U% THA S #
(b} S A BT TH 950% o

(] S A® B A TF vk seEE wfataam
2

(d) SV o TE R

26, qﬁ?ﬁﬁi’qﬁ?rr:l,ﬂ,ﬂ,...%ﬁqTﬂﬁﬁﬁ
A Avfi (AP) & oaf g ® | 4 fadl A i
wieAE iR m T o0 & fomowmR ww
T,=Un3M T =1/m8 @ T FFF s
27
(a) (mmnj*
(b} mt+n
fe) 1
(d 0

27. WM ®itaw % 0x) 8 v w uw e sres
C A T am oft el s 5 fon was R
M gix) = Ax) + Prx) + P0x) B, 71 et ot
greafas « % fom
(a) gix)<0
(b) gix)=0
(€) glx)=0
(d)  gix)=0

YPL-S-BLU

28. TEAOH HE F IR A, B C % wEg &

28,

a0,

(10-A)

A,

Frafefies w famm $ifim .

1. (A+B+CY=A'"+B+(C
2, {ABY=AR

3. (ABC) =C'B'A'

TET A, SR A T AfE R

A e A T E
(al EE 1302

(b FEe 23 g

(c) Hae 13Ha

(d} 1,23m3

fosmadt gwmadt (11010, (10110110), 3k
(10000x0y), ®1 ubTEd, fEoemadft  dem
(1011011013, B.) | <3 y % 7 w0 # 7
&L Y =

thh x=1¥y=10
el x=0,y=1

idl H=ﬂ,}'lﬂ

uiA cfifim 5 wmeqe B, us 9 smegm A =
HEEEH =R B, A % @ I sl ow v
AEHEE R [ | AR k i#0), WEHE A W
HRE 7, 1 AR e o @ o

fay |

(bl Wl

ey W4
) (kN




25.

26,

27,

Y¥PL-S-BLU

et A=[xeR:-—1=<x=<l],
B=lye R:-15y=1]andS be the
subset of A = B, defined by
S=lxyvieA=xB:x*+y =1L

Which one of the [ollowing is correct ?

fa) 8 is a one-one function from A into B

(b} 8 is a many-one funection from A into B

ic] 5 is abijective mapping from A into B

id) S is nota function

LatTrl:ruthﬂr*htem-trfanhPﬁur
r=1 2 8, ... H for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then what is ngqual to 7

(a) (mny?

1 1

fthl m™" +o”

e 1

d)y 0

Suppose fix} is such a quadratic expression
that it is positive for all real x.

If plx) = fix) + Plx) + (x),
real x

then for any

(a) gxl<l

by gixl=0
e ghxi=0

(d) glxiz0

28,

a0,

{11-A)

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+CV=A"'+B+C

2. (AB=AB

3. (ABCY =C'BA

where A’ is the transpose of the matrix A.

Which of the above are correct 7

ta) 1and 2 only
fhY 2 and 3 only
{fe) 1and3only
dy 1,2and3

The sum of the binary nombers (11011},
(101101100, and (10011x0y), ie the binary
number (Y01103101),. What are the values of

A and v 7

m] x=1v=1
b x=1y=0
e} x=0,v=1
(d} ==0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A,
If k (=0} is the determinant of the matrix A,
then what is AB equal to ?

faj ¢

(bl

(e} K
idl e



31, AR (027 =2 R log,, 2 = 03010 B, A x
Wi e gam we R g

tal  —100
(b} —05
(e —04
ey -02

32. 08 97% % fum il F gw 5 o et
ferait weamd = = = # ¢
(a} 45360
(bl 30240
el 27216
(dy 15120
. ¥+2
d3. IR (2 ox z+x ﬁﬂﬂﬂﬁﬁﬂﬂ#m%?
y = x4y
a) =ylly—z){z-=35)
(h} (x—wiiy—=
(e} Ayv—zliz—x)

idy oz - (x + ¥+ £}

¥YPL-5-BLU

(12—

34. afg A B3N cvs ByE 5w # o

| 1 1 1

1+sinA I+8in B 1esing | =0
sinA+sin®A  sinB+sin®B  sinC4sin® O
B, 1 Faforfias 4 & 3h9m v wdl B 0
(a) Frqw ABC wwfgams &
(b g ABC T #
(e Frga ApC Ty 2
() Frgw €t owf % an o i Fewd of

ELR-E)

UFAAE HiE F oAEE A 3N B % Ay #
ﬁmﬁ-‘!ﬁﬁmﬁﬂﬁﬁﬁq

L  A*-B -(A+BI(A-B)
2. MA=DI+A)=20eA%=]
FIE1 TR AR A 3O T e R
I § | FAEE o 88 2
{al 9 1
(by a2
(e) 13 22
(d) FFM1,TF2

e JE:ESE PR Lt
&l o 20
(b}  tan 26
{e) gin 20
(d)  cosec 26

Al



31. If (02 =12 and log,, 2= -3010, then what

ia the value of x to the nearest tenth 7

ta} =10
(hy -6
e} =04
{dy -02

32, The total number of 5-digit numbers that can
be composed of distinet digits from 0 o 915
ia} 45360
{b) 30240
el 27216
id) 15120
33. What is the determinant of the matrix
¥ ¥ V42
g % E+x2l?
l}" z X+¥
@) (x—=%lly=zllz—xn)
b} (x—yhy—=m
¢ (y—z)lz—x
(d) (2—x(x+y+2)
¥PL-S-BLU

as.

(13-A)

If A. B and C are the angle= of a triangle and

1 1 1
1+sin A 1+sinB 1&pinC =1,
sinA+ain®A sinB+ain®B  snC+sin®C

then which one of the following is correct 7

{a) The triangle ABC is isosceles

(b}  The triangle ABC is equilateral

ie) The triangle ABC is scalene

{d} Mo conclusion can be drawn with regard

to the nature of the triangle

Consider the following in respect of matrices A
and B of same order |

1. A*-B*={A+B){A-B)

2 A-DI+A=0ec Ai=1

where ] s the identity matrix and O iz the

nutl ‘matrix.

Which of the above is/are correct T

{a) 1only

(b} 2 onmly

ey PBoth1and2

{d} Neither 1 nor 2

What is — 228 equal to?
1+tan® @

{a) ocoaf@

(b) tan 28

{¢) =in 26

id) cosec 26




87, A sec (6 - a), sec 0 N see (0 + o), THI Aoft |40, Y gaule § oF o A2 | 7w EwEd
(AP) # #, T8 cos o w 18, 71 sin? 6 + cos HHET 3 (3 - tan” A - cot AP = 1 I GO

I =R =M | Pefsfmm g asmamand e
a) O ta) 300"
b 1 (b) 315°
(e} =1 (e} 330°
. % d)  345°

41, h FEE f vF Ea & ofid o owm B At w

38, TR A+B4C=180" B, @ ﬁm*?ﬁﬁ%waﬁﬂm:%sﬁrg

) Fimmd i Fad w2
mnﬂﬁ—a&uﬂﬂ—sinﬂﬂﬁ?ﬂﬁiw%? g1
i
(a) —4'ginA sin B sin O A
_ b dh
(h) -4 cos A sin'Beos © ‘W
e} —4cos A cosB gin - gy, B
dl —4sinAcosBeosC () %

8. EMMH&%EW%%{W}E. mﬂﬁﬂ?{mmaﬂcﬂ+mtx=dﬁﬂﬂﬁ
Ll I e e e B 8, T 0<x<2n® ?
0 48 R | 93 99 & Iw F AN 6t S

122 m R, o1 & i o a0 8 2 &) 3“3'5'%
(a) 122 sin 48° m
(b} %ﬂﬁg
bl 122 tan 42" m
L) aﬁﬁu
(&) 122 cos 48°m
n bn
id) 122 tan 48° m L e

YPL-S-BLU (14-A)



47. 1f sec (B — o), sec @ and sec (B + a) are in AP,
where cos o = 1, then what is the value of
gin® 6+ cosa?

{fm) O

hy 1
ey =1

1

id —

) 2

28 [ A+PB+C=180° then whatis
gin 2A — sin 2B —sin 2C equal to ?
in) —4sinAginBeginC
bl —4cosAsinBesC
(g} —dcosAcosBainC
idl —-d4dsinAcosBeosC

39. A halloon is divectly above one end of a bridge.
The angle of depression of the other end of the
bridge from the balloon is 48°. If the height of
the balloon above the bridge iz 122 m, then
what is the length of the bridge ?

(@) 129 sin 487 m

by 122 tan42° m

¢} 12Zcos 48°m

idl 122 tan 48° m
YPL-5-BLU

(15-A)

40. A is an angle in the fourth quadrant. It

satisfies Lthe
3¢3 — tan® A — cot A2 = 1. Which one of the

trigonometric equation

following iz a value of A7

(a} 300°
(by 3150
ey  330°
id) 345

The top of a hill observed from the top and
bottom of a building of height h is at angles of

elevation ; ol % respectively. What is the
height of the hill ?
() 2h
ah
) =
J -
{-FL"I 'h‘]
o) B
2
What isfare the solutionia) of the

trigenometric egquation cosee X + 00t X = 3,

whers 0= x<2n7

bx
(a}l = onl
A 3 nly

.
(b} 3 only
ey monly
[
1
) = %. “'?



43. 'ﬂﬁﬂzgi,r?ﬁ 46,
(2 cos B + 1)™(2 cos 20 — 1117 (2 ¢oa - 1110
" (2 eos 48— IO

1 UM R 7

(a}y O

by 1

el 2

il 4

44, @ cos o 3 cos Bi0 < o < i < n), T

A 4x% - 8 = 0% g5 B, A seca x sec f
G R
{al —;i i
3
4
} i)
(b =
i) E
4
() .2
4

1 8
2, -4
q 1
6
&
4 48,

x F I uEl § 8@ s adtem
lan'lt2ﬂ+tn.n'liﬁxj=§ﬁﬂ.¢ﬂﬁﬂT

(a) EH 3
(b) e 23 g
T =
(d) a4

YPL-S-BLU (16-A)

AL v Ui A (GP) e 98 2 # i
E I YE W AEE g B, A quitw avi
(GP) R

1 1
&) B3 = X,
F 28
2 2
[h'.] 1ﬂ| 2| b e 1
T
O e 3
2' 92
3 3
W) 68 2. 2
7' 4

IR a, b, c TR ARl @1 i Aol AR
iﬂﬁﬂi*fﬁz—:qﬁﬁw%?

(a) EHH'EIT13?EE|TE
a

C

mYE mmrf% ST 1
. 3

() 13t R apm 2
b c

(d) Jaﬁi‘q‘l%mf

H

A a7t o TH i dEmat w dmeer e 2
o ot d9 S 3, 4 o0 5w oA §
wEl ! #1 Ty e 9277 R 0

fal 2664

(bl  38RZ
e 4044
(d} 4444




48, If Hng-,:hu-nwhmiathevalunﬂf 48. If the second term of a GP is 2 and the sum of
its infinite terms is 8, then the GP is
(% e 8 + 1719 (2 cos 20 — 1)1° (2 cos 6 — 1)1P
3 [ |
{2 cos 48 - 1)10 7 {a) E,E.-éng....
{g) 0 "
2
ln'lE!_!_p
by 1 ik} AT
e} 2
(d) . 1 1
4 © 4215, o
44. Ifcos o and cos i (0 < o < P <l are the roots id) ﬁla_%1%1,
of the guadratic egquation 4x* - 3 = 0, then
what is the value of sec a = sec i 7 o
4 47. Ifa,h:minAPmﬂPnrHP,thenh i=
(@) L -
equal to
4
w3 b b
fal —arlor =
@ = " 3
4
hr Sars
@ -2 G o
4
Lch lnr%ur%
45, Consider the following values of x :
L. & (d) lnr%arE
2, -4 =
1
9 3]
4 i 5 48. What is the sum of all three-digit numbers
4

that ¢an be formed using all the digits 3, 4 and

solution(s) of the equation

i 2664
tan~" (25 + tan™" (30 = £ 7 o

() 38582
{a) 3only
ib) 2and 3 only el 4044
(el 1andd4only @
idy 4only

YPL-S-BLU (1T-A)



48, mmﬂ+hz+unﬂmpxﬁ+qx+r=n

6l.

YPL-S-BLU

% qEl  wgwa woe ® | Wl p, @ D,
m:ﬁmﬂmﬁ%ﬁlﬁmﬁ.ﬁ%ﬁmﬁa

2
e # 7

F:|
(a) —_
o?
2
(h) h—?
q
2
iC
fe) —
rﬂ
id) I °§ | wE TE

g A = sin 6 + cos? 82, A oft It 0 &

form Freforfign & Sham s wf & 0
(a) 1<A<?
a
b Z <A<t
‘t_ n
13
|:| e ST
Lo 15-&51
W L eacld
4 16

ﬁﬁﬁﬂﬁﬁmﬁm {ﬁﬁ}ﬁ%{x_:,yﬂ
M (xy, y,) &, 91 38 g7 7 Ao &

(@) (% =Xy} X — 29} + {y — My —y5) = 22 4 5
| ——
(b} (x-x,) +f_1,—yl] = X,¥q

ey x4+ ;r2 + 2x.%, + 2¥, ¥z =0

i) x—x) (x—x) +ly =3y~ y,) =0

63,

(18—-A)

famma weftm o 5 dy? - 2 — 4y 4 2 = 0, W
frefam wam & ¢

o fig
w8 170 o ddam

(a)

il

iel i—smﬂﬂﬁﬁﬂﬁ

(d) 39w O/ FE 94
g T lx+my+n=0 3N
I’u+m'y+n'=ﬂ%ﬂﬂﬁﬁﬂimn"luﬁm
TR 6 e @y
N4+ 0C Cri
(B} fm*—{'m
' — mm’
im'+ {'m
(b}
'+ mm'
im"— {'m
ic) e
H i+ mm’
(d) fm'+I'm
i — mm'



49.

The ratin of roots of the eguations

ax? 4 bx + ¢ = 0 and px? + qx + v =0 are equal,
If D, and D, are respective discriminants,

thien whist s %’— eqnalto?
a2

2
w =
i
h'l
(b} q_E
o
¢
(el ==
w2
()  None of the above
§0. If A = sin® 0 + cog* 8, then for all raallﬂ-,
which one of the following i& eorrect ?
m) 1=A=2
4
b} —=A<1
4
13
— 2 5]
I8
H 13
P R e 2
(d} ; sAs
51. The equation of a circle whose end points of a
d.iamal;arnre{ul,yj}m:d (Kg, ¥p! i6
(a) [I—Hl}{l—!’ﬂ]"‘*[}'-}’]}ﬂ’—,}’gjI:'.'i'i'}"ll
(b (x=x%+ (r—y =559,
{e) x2+¥y%+ e x4+ 2y.¥,=0
(d) (x-—xx—xd+ly—y ) ly-yy0=0
¥PL-S-BLU

B2,

(18-A)

The second degree squation
x4 dy? —2x — 4y + 2=0 represents

(a} A point

{b)  An ellipse of semi-major axis 1

(¢l An ellipse with eccentricity 1_“;5

idd  None of the above

The angle between
Ix+my +n=0 and

the fwo  lines

'x +m'y+n'=0 15

given by tan™! 8. What is 0 equal to ?

' = T'm
A IE

i’ +I"mr
I+ mm'

Im'—I'm \
el ~
i+ mm'

+I::|:|.
ﬂ'




54. Fr=fefes waei o Rem #ifa 56. FHAT Sx - fy + 22+ 11 =0 F fag (2,3, 0 )

1. :{mﬂﬁy=m*c13ﬂ:§}r=m¢¢2£ﬁ iﬁ ﬁ?
mﬁﬂ |I’:i—t-_;| %I (al lqﬁg{m}
fiem by 2 IR (aEE)
2, @A ax 4+ hy +ey =0 i (e 4§ o
i e 3 g ()
e ~eal 4, (d) 4 M= (vmEs)
a* + b2
b A Mﬁu=c13ﬂ1x=:2ﬁiiﬂﬂﬂﬁj
lej—cyl &1 57. T3t 0, P, 3 R % Fdws o (0, 0, 0),
: {4, 6, 2m), (2, 0, 2n) 307 (2, 4. 6) & | wm Hifaw
aqder A 0 B wAE g d g & L, M, ¥ 30 K 99 @ oR, OF, PO
i Qr W = wER & fag # & LMNE v
(a) e 1 3 2 wata AJgva # feelt @) dem yad i s

LM%, frll & v Fremad V2 2 | moaln

(b} et 2 3
. n & W e
{c) HEE 1 303
N iﬂ:l‘. E::‘-'.
() 1,233 s
(b} 1,3
¢} 8,1
55. W WH @ w wdiEm ¥ sz
§ . F ke H;iﬂ’maﬁ (d) 39 G H HE T
O e e R
A B e R ST ax + 5y - 6= 0%
HH B 7 = :tm:u;:l =y;2=1;3 e Frefia 9
27

{a) 20x + 25y —54 =0
(b) 95x +20y-54=0 fa) x+y+z=6 x+9y_-dz=—4¢
b} x+8y—2x=—1, dx+4dy-5z—-8=0

[¢) dx+8y—584=0
g} Sx+2y-8¢e=0 Ix-Gy+83z=-2

(d)y  dx+8y-45=0 ) 3x+2Zy-9z=-2 Sx—-6y+3Izal

YPL-S-BLU (20-A)




YPL-S-BLU

54. Conzider the following statements :
1. The distanre between the lines
]
¥ =mx+ ¢, and ¥y =mx + ¢, 8 V———.
1 g "—1 m?

2, The distance betwesn the lines

ux+h;.r+r:|=ﬂandu+h}r+::3=l}is

ey - eg|

a? +b?

3. The distance between the lines x = ¢
and x=c, is | gy - gg].

Which of the above statements are correct 7

(al 1land2 only
tb) 2and3 only
el 1and3onlky
idi 1.,2and3

What is the equation of straight line passing
through the point of intersection of the lines

LS -lm:'.ﬂi e L = 1, and parallel to

2 3 3 2
the line 4x + Gy —G=07

(a) 20x+25y-54=0
by  26x+ 20y —-04 =0
) du+dy-54=0
id) 4x+b6y—-45=0

57.

(21-A)

What is the distance of the point (2, 3, 4) from
the plane 3x -6y + 22+ 11 =07

fad 1 unit

(k) 2 units
(¢} 3 units
(dl 4 units

Coordinates of the peints 1, P, § and R are
respectively (0, 0, 0), (4, 8, 2m), (2, 0, 20} and
{2, 4, 8). Let L, M, N and K be points on the
sides OR, OP, PQ and QR respectively such
that LMNK is a parallelogram whoge two
adjacent sides LK and LM are each of length
42 | What are the values of m and n

respectively 7

(a) & 2
bl 1.3
ey &, 1

{d} MNoneof the above

1 y¥-2 z-38

The line e
@ a

15 given by

gl x+y4+zef x+2y—dz=-—4

(b} x+2y-2z=-1, dx+dy—-62—-3=0
) dx+2%y—8z=0, 3x-6y+3z=-2
d) Ix+2y-32=-2, dx-6y+3z=0
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59. Fefatas wedl w fsw S .

L. WHEel fx-y+e=13Mx+y+22=3
%iﬂaiﬁlaﬁmgﬁl

2, HAWEH 6x - 8y + 62 + 2 = 0 aff
ﬂx-y+2;+4=u?i;ﬁq=ﬁ'raﬁ%*ﬂ|

I wEET H E i EE R
(a)
(i
@ 1323
id]

ﬁ'ﬁﬁiﬁﬂﬁﬁ“ﬁﬁﬂm:

oA I ; AE g Py ) QGG G
feem g tErEve gefas oW
w0 o AR wEL R

mE — T
Cos o = i [
..ll',:m_ﬂ ¢ nt)ir? + 8%)

w7 i1 et ot Frgm ABC B, oW 2 e

a¥ =b?% + ¢ - Fbeeos AL

34w o Fel o odew o, Feefetas § &
HIH-H U HA R T

(a) TFT &S 19 11 56 # 3 w99 1L w99
1 &1 |H Pt
(b) = wEA 1 F I oud #, e weEw o

e | HE A R
(e} EA I WA 8, TR w11 e 2

() we [ e R, e e ool @

61.

(22-A)

w0 Fiygw &1 dmeet wan & fawd o g

(1) (k). 2]

(a)  lxy —xh (g — X5) (Rg ~ 2, )|

by 0

(e) [KI —}LEHIE—K:]_]'[I‘-;—H]:'
XiXaXs

N !:I_KEJ{HE‘:‘@E_II]
2’111213

afg y-a78, 9 x2 + y2 4 gx + fy + E = 0%

w3 w2, A 58 g w sifiew, ga 9w
frgmwmm ey

i
1.} (_.EJ-._'}
4 2 T2
thi rlr“.ﬂg‘télﬁ
i 2/
B

{e) oy |
i [ 2 ]
(dy f(-g. —f)

oe St B |5 =0, |B| = 0 R |
(@ + )@ + Bi=|a]2+ | |2 mf
g 2, uft =i e afz

a #T bEmE

(b) = 3R b #OEE

(¢) @ 3 b,456°%F Hm w35 B

2 a b wfgew #

LF:1)

(d}




59. Consider the following statements :
1. The angle between the planes

Ix —y+z=alandx+y+2z=3is %

2. The distance between the planes
fx—dy+62+2=0 and

-y + 224+ 4=0is %’
Which of the -above statements i1sfare
correct 7
(a) 1 only
iby 2 omly

{¢y PBothland?2
(dy MNeither 1nor 2

60, Consider the following statements :

Statement I': If the line segment joining the

points Pim, n} ood Qir, m‘.ni

gubtend® An  angle o At
the 'arigir, “thient
mE = nr

COs L = i e
Jm? + B+ 8

Staterment IT : In any trinngle ABC, it is true

that a2 = b* + ¢* - Zbe cos A
Which one of the following is correct in respect
of the above two statements ?

{a) Both Statement | and Statement I are
true and Statement I1 is the correct
explanation of Statement 1

(b} Both Statement [ and Statement 11 are
true, but Statement II is not the correct
explanation of Statement I

icd  Statement 1 is true, but Statement 11 is

Talse
{d}  Statement 1 is false, but Statement I1 is
Lrie
¥PL-5-BLLU

(23-A)

What iz the area of the triangle with vertices
o) o) o)
Xpi— |+ | ZEa2; B | R ‘i'
X/ 0 Xz X3

() [y =%y (X — xg) (x5 — 2, |
(b} 0

{c) X1 —Iz}txg—xﬂliﬂq -—}Il:l
KpXaXy

(%7 —:IEEHIE = IEH'.H-; =%}
2xxaxy

id}

If v-axis touches the circle

vy g+ iy o+ % = 0, then the normal at
this point intersects the circle at the point

83. Let |® |=0,1% | =0

(m+BI1(F+ V=7 1%+ |2

holds if and only if

@) & and B are perpendicular

by ®oand B are parallel

(¢} ®and B areinclined at an angle of 45°
—k
i |

(d} and B are anti-parallel



) ix+vy+z

85. TEat2i — § + k afwal — 4] - &, veirm

T EE, T W e (g awe) &
m %ﬁhfflij_iaﬂ as.
(b} ﬁh%ﬁ;%i
el 13 e %]L:}_g_;ﬂ
(d) lﬂi’+%}+%ﬂ
69.

66, FE |a|=3,|b|=43 |3 -b|=5%

W |3+ b | FEIFTRY

ial B

(hy 6

) ] «E

id) B
YPL-5-BLU

(24-A)

(8 — bixia + b) Tk e @ 9

ta}) _ 0

) i

by’ 8% % b )

W |z [P=| b 2

i +2] +3k W im v siafeEE w T

Tz 1 BiE4 | wk w5 smifes § | sAfEE
& argel =1 whmm #

fa) &
(b} @i
e  JBa
(d)  FE ° & FE TH



YPL-S-BLU

- & A A 5
It r = =xi + vj + gk, then what is

T B
¥ oWkl + 1 + k)equal to?

lal x

b} x+¥

fgd  —lx+y+u
dl (x+y+z

A unit vector perpendicular to each of the
& N
vuﬂursi?—j'+ﬁmd3?-4j—kis

- 1 & 1. A '1;{
un iy — 2l Do 2 = ==
B a8 48
A

th) ﬁi-’-i;*}ik

1 1. AUTTRIT

fe) = - j ==k
P R Tl

& I

@ T‘;hj—i“%t

ek
If|a =8 |b|=4and|a — b | =5

then what is the value of | 2 L5 |?
fa) B8

bl &

(e) B2

idi b

(25=-A)

e
let a, b and e be three mutually

perpendicular vectors each of unit magnitude.

b £
HE e ah Bl wn b

B e n =B 0. ik whih: e of ihe
tollowing is correct 7
— e
W (A B[sE]
—% =
B |A[=|B[=]T]

—}
A
N g
W IAI=IB|=]C]

—}
@ |A|=1B|=|C]|

|
Whatis{a — b )x(a + b )equalto?

L) El’
B, @ xb
(@) Z(a xb)

; —»
@ = |2=1D |?

A spacecraft located at P Ef + Hi is
m:.hjauw&maihr:elﬁhyﬁriugamnk%m
spacecraft is subjected to a moment of
magnitude

fa) &

(b} J3A

€@ BA

{d} Noneof the above



71.

YPL-3-BLU

v fiya ABC o, of2 wm § fern wm, A7
Fferiaa sl @ faan $ifaw
e 4 = —¥ =
I AR + BC + CA = 0
—_ m — oL
2 AB + BC-CA = 1)
—5 ] =
3 AB-BC+CA=0
— - —
4. BA-BC+CA =0
IR w0 A fe ol # o
(a} TR
A
ey #m
(d) =m
74.
mmﬂﬁﬁy=mrlfﬁiuiiﬂm
tan B & | T AU (0, o H A T4 2
r
[ iy
il 2
gy 3=
4
ich 3
i
b
oy =
2
75,
x=1
ﬂﬁl?xr:i—_i-.ﬂﬂﬁ#ﬁqﬁqﬁmﬁﬂ
A1 R, 1 S9E B T R 0
(Al  L—ea d) L {4, e
(hy (4, =)
(el (1, d) L) id, ea)
di (1, 4) U4, =)
(26— A)

Heiq
ISiEh Hex e
flx) = ; wt femm #ifaw -
E ﬂﬁx=n
weH & way #, Fefeien § @ wEE s g
o

(a) ¥ x =0 T94 78 #
(b} 4% TrdF x W Hod 8
() W& x=nT Had T8

{d) T8 x =09 Haa &

T4 fix) = |:-3|ﬁaﬁ»rq,ﬁmﬁrh?rﬁ%
EARRC IR i

ta} T w =8 Wad T8 §
R = 3 T B

o x = 0 9 FIFeEg #
T x = — 3 W FEHEHE B

Th)
{ah

i B

qﬁtﬁaqf[;J=L"iﬁmﬁgﬁqﬁ

2x +tan™ x
Wi fag, Wb B, @ fo) W W w0 R 7

1

fay —=
. 3
1
(bl =
a
(el E
)
idy %




70. In a triangle ABC, if taken in order, consider
the following statements ;
—
1. AB+BC+CA=0
— 5
2. AB+BC-CA=0
= — s
3. AB-BC + CA =10
— = - =
4 BA_BC+CA =0
How many of the above statements are
correct ¥
(a) Ome
(b} Two
ey Three
id} Four
71. Let the slope of the curve y = cos™' (gin x) e
tan @, Then the value of Bin the nterval (0,0}
is
™
{a) G
dn
B riad
(b} :
ft
ich —
4
W I
2
{1 :
79. Iffix) = Y defines a function on R, then
I_
what is its domain ?
(a) (—oe, d) L {4, =)
(hy [4, e
el (1,400 04, ==)
dy (1,410 {4, =)
¥PL-3-BLU

73.

4.

75,

(27-A)

Conzider the function

Bin 2x if x#l
flx)=
a .
-_— i =0
1&

Which one of the following is correct in respect
of the function ?

{a) Itisnot continuousatx=0
(by Itisconlinuous at every x
(e} It is not continuous at x =
(dy  Itis comtinuous at x =0

For the function fix) = |x - 3|, which one of

the following is mot correct 7

fa} = The function isnot continuous at x = - 3
(b} The function ia continuous at x = 3

{c} ‘The function is differentiable at x = 0
id) The fanction is differentiable at x = - 3

Gl
fix) = 2x —gin % is
2y +tan” L x

If the function

eontinuous at each point in its domain, then
what is the value of f10) ?

1
¢ T
[ 3

1
b =

3

p:
@& =
= 8
dy 2



76. AR fix) = 1{25—:-:3- § W ME-1R 78, mw fepereh e & 7

X % | | x—1 ) m
formR a2 7
& = I (a) 2
;534
) 1 b 242
J24
1
1 ic) L
(] . N7
43
1 1
dl, - )y ——

= n B, wH AR =gt
77. UR v = tan™! [M]imﬂ’m o — B, Al fix) =% —4x + §

2+ 5 tanvx dx zm fnafim 8, 9@ A = (1L, 4 & ) B W
w7 g (=)
(a) i, {a) midy5)
2% ;
(b} 1 (b 1,56
iy =1
| (e} 11,5
R
2/x (d) 11, 5]

78. Wﬂﬂi=15iu1+max+%ms”xaiﬂﬁﬂ " b :

#, Freifefiaa # & S os ad 2 0 8. leldz*f[—xlch T wo &, W@ ()
il o

{a) ﬂ'ﬁ.m[ﬂ.g]ﬁﬁﬁﬂﬂﬁ 'H'Eﬂtrtﬁrﬂq;q-m:[t?

(b} TR, ST [g_%]ﬁmwg @ b-a

|1

th) a-b

(e =, st (0, % | A w2

< icyk 0
@ I, e [:;] 5 w2 () 2(b-a)

YPL-5-BLU (2B -4 )




6. U fx)=y26-x%, then what iS|mo Whatis lim Y1028

equal to 7
|y § =1
. a) 2
B) —-——
J24
(b} 22
1
b
J24 i
(e)
| J2
43
1
1 B =
id) <5 22

77, Uy = tan [%ﬁr],ﬂmﬂamﬂ—i 80. A function f: A —+ R is defined by the equation
+ n+x

fix) =x° — dx + 5 where A = (1, 4). What is the

ual to T 5
= range of the function ?
i
el - ‘
2x () | (25
thy 1
{c) 1 (Bh. (1, 5)
i = . Clv
1 (e) [1,8)
{4y &
25:&
(dy [1,5]
78. Which one of the following is ecorrect in
respect of the function b b
EI}=IEin.t+£ﬂBx+lmﬁI? Bl. What is Jltr.]dx+"-|—;]d1 equal to,
2 n .3
fal  Itis increasing in the interval ['L %] where |] is the greatest integer function ?
ib} 1{1: remaing  constant in the interval A
0 E\]
%3
thy a-b
{¢) It is decreasing in the interval (u, %J
ich O
(d) Itisdecreasing in the intarval [E. E]
- o 4 2, (d) 2(b—a)

YPL-5-BLU (28-A)




2}
H2, I |%—5|ds ToFms s 2 7
2

ah 2
(b} 3
el 4
idry 8

83, jain*’xmmx TRk w0

(al r:ua-ir+|:

bt sin*x+e

{1 — sin® x*

()

-
1 = cos :-:i?’.*,

td)
q

it

HET o O B |

a4, J'Efwm-*ax e

i) fn|tanx| +e
b} I |seex|+e

el tan x + ¢

) e ae

T o YA R |

YPL-S-BLU

(30-A)

(@l

(b

ic)

(b

Frgfefan sl 8§ 0 & e, wee

=

b

fix)=x* - 5x + G BHAH & 7

LAl
ikl
Lel

id}

[— oo, 2]
18, =)
= oy, o |

(2,3

B7. d@&-Hel v = p eoslax) + g sin (ax), = Poq

= A1 8, 1 Hawe g

(&}

()

{e)

{d)

:i‘g —ay=10
:Iii +ay=40
% +ai_f,r=ﬂ




|
What is I|x—5|d; equal to 7

P

(a) 2
by 3
e} 4
dl 8

83, Whatis I sin” x cos x dx equal to ?

iak {."|:|E|'l N+
by s’ x+e

T S
(1="gin" x} wirfl

i)
4
. e | L
(d) ”_ﬂziu.!,. e

where ¢ is the constant of integration,

84. Whatis je‘““““d; pqual ta ?
fa}) In|tanx | +¢
by In |soex| +c
#d tanx+c¢
d) 0% 4
where ¢ is the constant of integration.
YPL-5-BLU

87.

(31-A)

1
What is J- {i(mn'lildx equal to 7
=1
fa} 0
11
| -1
]+ :
ic) —%
T
id) E

In which one of the following intervals 18 the
function fix) = x* - 5x + § decreasing 7

(@) (===, 2]
tbi | (8=
€} (=== =)
dy iz, 3}

The differential equation of the fmmily of
curves ¥ = peos (ax) + g sin (ax), where p, q

are arbitrary constants, is

(a) _aty=0D

(b =gy =0
P e

() e o =0
e e

@ L ialy=0



g8. g (-1, -2 A TR FA N
dy g 1 =
o= _;ﬁ-ﬁﬂgﬁmwaﬁﬂﬂ
mefteror #
fa) 1Txy—6x-+3x"-2=0
(b} Bxly+1Tx*+ 2" _3=0
(0] Bxy-2x" +17x" +3=0
(d) 1Ty +bxy—3x"+5=0
89, I Fawe Adtsn & Wil w2, T '@
y=acosx+bsinx+oee™+dB, T a,b,ec
af d =g A B 7
fal 1
by 2
el 2
d} 4
80, ¥ T m[:_iJ:uﬁuh:.f T T
&
ta) ae™+be¥=¢
(h) llz-‘“+11:'”"=nr:
i
(el ae™ +be I:"]r=|'..
id) lE“"'l+ le_h-'F:ﬂ
# b
ARl o U EHES WA R |
¥YPL-S-BLU

91.

(32-A)

@ u = ™ zin bx 3T v = ™ cos bx B,

by (ad+bYe™™

i} ab g s

id) (a+b)e™

92. AR y = siniln x) B, T F=fafgm § 7 R

uE HE R P
2
ia) i-?;-r-vjwﬂ
diy
i), =4
axt
3
s d”y d
S r=10
Le) x,ﬁi 9 vF
id} xﬂﬁ —xﬂ +y=0
dx? dx

93. UF TE & 9 4 =0 Bl B wE w0 W

40 m OETE % UF AF ° 91 7R 7 & | af
Tl w wfiywen dwifda Swwe 8, A9 de
CAREE S

fal 25 m
(b  20m
e} 10m
idié Bm



88, The eguation of the corve passing
through the point (-1, — 2} which satisfies
g—i o ;Eiﬂ , 1%
(a) 17x y—-6x+3x"—-2=0
b)  Ex'y 17" + 2x" —3 =0
€0 Gxy—2+17x° +3=0
(d 175y + By —3x" +5=0
89. What is the order of the differential
equation whose solution is
y=acosx +bhsinx +ce” +d where o, b, ¢
and d are aritrary constants 7
(a) 1
thy 2
e} 3
(d) 4
90, What is the solution of the differential
equation [ﬁ] =ax+hy?
() ae™sbe™=g
bl %Bu + % ¥ =g
(@) ae™sbhe ™oy
idb l4!'“"+ lE_IJ'!"=|:
8 b
where ¢ is an arbitrary constant.
YPL-S-BLU

Bl.

(33-A)

If u=e"ginbx and v =&"" ¢cos bx, then
what :ii+1.|"i—Iu + \rﬁ equal to ?
dx dx
() ae'™t
by {a®+b%e™
foh gh a*2%
idi  {a+bie™

If v = gin {In x), then which one of the

following is correct ?
2.
(g} r:l_:|.2 +w=0
dx
dy
i  —= =0
dx”

alityadhce 2001 o
- dx® dx

S8y dy

dl
' dax? dx

+y=0

A flower-bed in the form of B sector has been
fenced by a wire of 40m length. If the
fower-bed has the greatest pozsible area, then
what is the radius of the sector 7

fa) 20m
(b} 20m
(e} 10m
id] Gm



1
94, [xlx—1)+1]3, T8 0= x <12, = a9 74|97,
THE?
{a) [E]E
o
by 1
1
1 P
g
s
J1a
d -
(d) [E]
95. 'qﬁ:,rﬂ|si.n::]]”%,ﬁl1=_gﬁ'{;ﬂﬂm
X
w7
- 9,
B i
iy, 3 (6 In 2 = +/37)
6
S 96 (6 In 2 + 9
6
. )
9 B(G§in 2+ 30
)
6
L
) 2608 In 2~ J9n)
3]
o0,
df0=
7 A st ﬁmﬁ;mﬂ Gm‘lf_..:x._{i
dx 2
;
(al coEX+EInDX
bl ={¢oax+ BN x)
ieh + {cos x + sin x)
I | @ w=
¥YPL-S-BLU (34-A)

dx Frms g
Ia_“ﬂ-iugx-rbxmﬂ:"x Lk
1 ~1fatanx
{m) ::+aht.a.n( b :|
(b} c-itan'l(htaﬂxJ
ab #
(el c+ita.n_1[hmn1]
ahb a
aqden # @ w1
AR ¢ HETHAT-E 7 |

R wifem & fix o+ v = Bxfty) @i
fix) = 1 + xgixibix) B, @ ijﬂgmeaafn
¥ —5

lim i) =bR | T Fox) Frms s # 2
x ==

181y 154/abiix)
tb} 1+ah

(¢ ab

d} abfix)

e i O L Xry+l

dy x4yv-=1

ja) v-x4+dinix+vl=c

b} wv4+x+2lnix+yl=c

e} y-x+nix+yl=c

(dy vy+x+2Mmix+yi=¢c

TEl o wHes R |




94, What is the minimum value of [x(x — 1)+ l]5 .
where 0<x=<17
1
@ (2
4,
bl 1
1
fe), =
3 g
A
(d [EJ“
o |
85, I:I’:.r=.]sinnl'“.thmwhntisth-avaluanf%
w
At == = T
4]
_ti 4 _
@ 2562 Var)
6
2606 n 2+ J37)
(bl t
&
_x
@ 2 6B(Gln 2+3n)
E
x
] -
@ 2862 Jan)
]
d./1 - 5in 2
96, Whaﬂs%aqunl to, where
K1
— g =7
4
(al cosx+zinx
(b} = {cosx+ gin x}
el %(cosx + sin x)
id} Noneof the above
YPL-S-BLU

97.

(36— A)

; dx
What is equal ta ?
Iaﬂahﬂx+hﬁﬂﬁsr}i
1 _1(nta|11'
(a) —1
(b} c—imn‘l[hﬂmx
ab a
ie) :+itan'l{hmnIJ
ab \ &
(d) None of the above

where ¢ 18 the constant of integration.

Let flx + y) = filxfly) and fix) = 1 + xpixipix),
where Li_::!uugtu‘.lza and li;-@;uﬂx,\:h. Then
o X

what s £{x) equal to 2
PR L

(b} 1+ab

{e} ab

(d) abflx)

What is the aolution of the differential

.odx x+wv+1
] _=—'.:|
Bq'uﬂﬂﬂd? .‘.\'.+:||‘-1

) yv=x+dfnix+yi=c
b) wv+x2+Zimix+v)i=c
&) yv-x+lnix+yl=¢

d) y+x+2Inix+yl=c

where ¢ is an arbitrary constant.




104D,

i 280 Xtsinx -1 go e s o
_— 2pin® x —3sinx41
&
1
ial -
2
1
b ..
(b} 5
(e] -2
idy -4

101, 7R % 98 T 9 f s A e

1K2.

5 WM B, W OUMES 10 W owew W= R
PHIEE

1
(m) =
! g
4
b Bcal
i 11
a
() —=
il
i

=

a0 BENi F TR WO=A W ST HEEEd
O 8 B | A 1TEE ®EIEEM g A 9
 farem 7 i #

(o) BO%
by 20%
fey  Bl%
id) 36%
YPL-5-BLU {36 -

103.

104.

105,

Ad

FrefiEl o A & us WbEE wp fodwa
oY 25 94 & | ofs wEiEl & wE € s
= 26 @Y oW i & TR A 21 A R, W@
e # ameiEl st it & sfremm w2

{a) 20,80
(k) 40,60
fc) 60, 40
id) 80,20

I sin o W7 cos o T TS OIET sin p R il
sin o 3N cos o T G WY sin 0§, W
freEa d g wam/a od B/E 0

1. 2 sinfas ﬂsinﬂ=sm 2

!

2. Eﬁﬂﬂ=mﬂ(u—§]

et for T 5= = v = ad e g
thy, & q

(b e 2

(e} 13 2 @E

(dy aFM1LIH 2

am #Hifaw A, B o C u% aigfees wEm 4
waEiYy 9 I wyEtaa 3 fen gzand
# 132 P = 1.5 PiA) 3T PC) = 0-5 P(B) B,
a1 PrA) aoEr B

{a) :—
(b} 14_3
(c) %
(d) %




100.

101.

-]

What iz Jim EE"“; ]H!“.’I_l al
,_,; Zsin” x —dsinx+1
to T
1
{
la 5
1
) ——
3
e =2
df -3
If two dice are thrown and at least ong of the

dice shows 5, then the probability that the
sum 15 10 or more is

1
{a) E
b =
s 11
3
'[E.:' ﬁ
2
d G
(d) 1
The correlation coefficient computed from a

set of 30 observations is 0-8. Then the
percentage of variation not explained by linear

reEression 15
la)  80%
(bl 20%
(e} 64%
d) 36%
YPL-S-BLU {37

103.

104,

105,

-5 )

The average age of a combined group of men
and women is 25 years. If the average age of
the group of men is 26 years and that of the
then the
percentage of men and women in the group is
reapectively

group of women 15 21  years,

{a) 20, B0
(b 40, 60
(e} &0, 40
idl  BO, 20
IT sin [ is the harmome mean of sin o and

cos o, and gin 0 is the arithmetic mean of sin o
and cos o, then which of the following isfare

correct ?

L. 2 ui.n[nH E]ﬁuﬁﬂsi:n:!u

- u pil RS I_E'J
2 2 gin & unsl'u %

Select the eorrect-answer using the code given
Tl ;

{fa) 1only

(b) 2only

ic} Bothland?2

idl] Neither 1 nor 2

Let A, B and C be three mutually exclusive
and exhaustive events associated with a
random experiment, If P(B) = 1-6 PA) and
PC) = -6 PiB), then PiA) is equal to

{a) %
(h) i‘?i
el g
Lel) %



106. % ez Faed d, 7 K v, Z SR & e

107.

YPL-5-BLU

IR T WA 25%, 36% N 40% d@ed @
Tmin =l 8 | weie X, Y, Z o 2w, 4% o
5% Brql Aieel o e owEh € ) Ema A g
TEfeew ¥ ¥ UF 9w e am # o T
STV 9T AT # | Ry wiEa ® R 33 i
X g1 &4 T 9 7

&)
(b}
i)

idi

& Torr o wy 3o T B | wndewn 6 R
W 1w Wi & 7

T

()
G4

a7

{b) =

aT
{c) ﬁ

229

d Lo
o 256

(38~

108. 5=l % @7 mym #, 90 3 ==feal sk

108,

Al

1@:2&%%2@;1@@
37%% § | 7S waE O @ afew wY W@ US
o= F g AW R W o A A= d,
1 et oY 2 Tl & B9 o T wriheea @ ¢

13

{al E

9
b =
3
) ﬁ
1

@ =

TeferiEa waa w feam $ifaw .

1. =i o g1 i we v § 10 9 fe
=, @ sitem ® o10 F gl @ oo
B

2. If* v g i geis wlEE d 1091
and, A1 " freem ¥ 106 gfg 7

e § & FA FeA w2
(a) 1,23Mm3

{b) AW 132

(e) #aa 133

(d)  HE| 233




106,

In a bolt factory, machines X, Y, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, ¥, Z respectively produce 2%, 4%
and 5% defective bolts. A bolt is drawn at
random from the product and 15 found to be
defective, What is the probability that it was
manufactured by machine X 7

fa)

14
(b

' 39

20

1

20

44

()
a9

107. 8 eoins are tossed simuoltaneously, The
probability of getting at least 6 heads is
T
i =LK
ol
57
) —
G4
a7
() ot
“  2&g
228
)
266
YPL-S-BLU

108. Three groups of children contain 3 girls and

10¥e,

{39-A)

1 boy; 2 girls and 2 bovs; 1 girl and 3 boya.
One child is selected at random from each
group. The probability that the three selected
consist of 1 girl and 2 boys ia

{al %
(b) 3—92
ic) %
() 3—12

Congider the following statements :

1 If 10 iz added to each entry on a list,
then the average increases by 10,

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3 If gach entry on a list is doubled, then
the average doublos.

YWhich of the above statements are correct 7

{a) 1,2and3

k) 1and2only
{¢) 1and3only
id} 2and 3 only



110. 25 Yol =1 worm 4 2 | 7 vee Gaw § 2@z (118, ¥R X w vy gmeE qons - 6 R, 3l X sl
fam = 2, 1 ofomdt Gewi @ W - ?#ﬂﬂﬂﬁwm-%i.?ﬁ?mxm

¥ A
L HHTER A F
(a) 2 1
ia) —
by 4 24
1
By e
el B (b B
id 8
: ) =
@ =
lll.ﬁﬁﬂﬁxﬂ?%mg}ﬂ,yi}ﬂgﬁ &

(i=1,2 3 .0 R 79 5 O QD SHEE:

paftt gF, A 2 = wviven arey B .
Y 114, Tt Q89 (xy, o) (R ¥oh o (g, ¥,) T TH

(a) % ag=E 579 v G oaf am fam e aft
aEw] A T STe U Ee tE e § | ae
o IE
) mlﬂﬂ[g} x Wiy % i wwgay T & wwte qE
(e} n(log P -log@Q) (a) |REE.0 1

iy, e
fed 0,13 _1

{df nilogP+ lui_: G

112, af2 31 wema A 3 B % us my B & (d) THEe — 13
wifirga p & 3 &l (A afn B ) B ded
el we % @ o w8, @ Pl s, wesE (0, 1, 2, . 1008 8 3 Qi « sy,

§ | A H TR E 7 e wiE S R | |x—y| > 5% 29
1. PAI+PB)=2_2p_q #1 wifma &
2. PANBisl-p-qg w &
1 fom e g2 w1 v = oA T 9 13]5
{a) w1 L
(b} “Fae 2 30

feh TL_":].
{0y 13 2em

25

(d) aMLAd2 e T

YPL-5-BLU (40-A)



110. The variance of 25 observations is 4. If 2 is
added to each observation, then the new
varinnce of the resulling observations is
(al 2
hi 4
fcy B
dr B

111. x>0,y >0(i=1,2 3, ..n)are the values
of two variables X and ¥ with peometric
meang P oand Q respectively, then the
geometric mean of % 5

P
fa) =
Q
g P
by  antilog (—]
Q
el nilog P—log Ch
idd  n{log P+ log Q)

112, If the probability of simultaneous occurrence
of two events A and B is pand the probability
that exactly one of A, B occurs is q. then which
of the following is'are correct ?

1. PAI+PIBi=2-2p-q
2 PANBi=1-p-gq
Select the correct answer using the code given
below
{a) 1only
ihy 2 only
ie) Both1and2
{d) MNeither 1 nor 2
YPL-5-BLU

113.

114.

115.

(41-A)

If the regression coefficient of ¥ on X is — 6,
and the correlation coefficient between X and
Y is - %. then the regression coefficient of X

on Y would be
{a) 3—1‘

® -
el —E—If

{d) %

The set of bivariate observations (x, ¥),
X, ¥aly ons Xy, ¥) are such that all the values
are distinct and all the observations fall on &
atraight line with non-zero slope. Then the
possible values of the correlation coefficient

between x and v are

(6] Lol WComige ¢
ib} Dand-1only
fe) 0,1and-1
(dr —1and 1eonly

Two integers x and ¥y are chosen with
replacement from the set (0, 1, 2, ..., 10}, The
probability that |x -y | > 5is

al il

B o
be) %
@




116. U% ¥ JAW 4§ Heiga @1 w9-a A 3 B #

117.

wfgw *1 fGm o wlEE da s R,

Frferfiga aftom 2em &

A | F B
HiWeRT i HEA 500 BOD
Fie wifEs a5 T 1860 | T 1750
A1 & "ed T W 81 1,;...;;- |

il A ofn B % ot afiw & o @ fan
T Wi g6 W me Wi dEE % w52 =
o 8

{a) ¥ 1860, 100

{b) ¥ 1750, 100

{ey ¥ 1800, 81

(d) FEE W HHE TH

# ar s e W1, 2,3, 4, 63 6%
% &, W1, 1w ¥ ow e R
Ha W R | ue e B o, sl w wom
-1, TR-DL, WAL 9 g ATy Fefe
W 7 | 8 R % awfEm ufomd & dem
T i xsysz8?

{a) 14
(b) 16
(e} 18
idy 20
¥YPL-S-BLU (42 -

118. U= afamgs 4, Freafalas 9 9 50 o\ @

119,

120,

Al

o&al & ¢
(ol HIED

(v wfeER (difEa)
{e) TOITRR HIEH
i) TEES (HIE)

Pt Wi smiem Avfl @ (/@ R A EE T
g}, afz x vren @ mey TaEem ) FEla w
& 3 v gew Faem & BEfm s 8, &
foreferfias 8 & S o wd 2 7

la)  y2X

th) y=x

5 1A

e} x=v¥

dl =x<¥

faffan 4 &7 fm o fuf 8, s oo
FouTTeHe AwedEe e 89 6 s w0

() it s wfsel 6 s

(b @ = w9 s gigen

Wt FufEt & @™ 3 39 gE) & aE
Fomemr 3= AT w9

[e)

(d) =i w1 AT AW w6 SEEn (3e)




118. An analysiz of monthly wages paid to the | 118, Which one of the following ean be obtained
workers in two firms A and B belonging to the from an ogive 7
same industry gives the following result :

(a) Mean
Firm A | Firm B
— bl Median

Number of workers GO0 GO0
Average monthly T 1860 | ¥ 1750 {e}  Geometric mean
w
Variance of I
diitribition of B1 100 (dl Mode

The average of monthly wage and variance of
distribution of wages of all the workers in the

firms A and B taken together are 118. In any discrete series (when all values are not

same), if ¥ represents mean deviation about
{a} ¥ 1860, 100 mean and ¥ represents standard deviation,

hich — S
(b} ¥ 1750, 100 then which one of the following is correct

(e} T 1800, B1 {a) y==

(d}  None of the alboiis b Redlity¥ §ih

(g) Xwmy

117. Three dice having digits 1, 2, 3, 4, 5 and 6 on (d x<y

their faces are marked 1, IT and 11T and rolled.
Let x, v and 2 represent the number on die-T,
die-1l and die-Ill respectively. What is the [120. In which one of the following cases would you

number of poszsible outeomes soch that expect to gel o negative correlation 7
X>yp>x?

{n)  The ages of hushands and wives
(a) 14

{bl  Bhoe sizge and intellipence
(b} 16

(e} Insurance companies’ profits and the
W, number of claims they have to pay
(dy 20

(d] - Amount of rainfall and yield of crop

¥PL-5-BLU (43-A)




e &1 & oo srg
SPACE FOR ROUGH WORK
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o &TH & ot wE
SPACE FOR ROUGH WORK

YPL-S-BLU (45 -A)




el HH & oo sg
SPACE FOR ROUGH WORK

YPL-S-BLU (46-A)



=l W & oo wmg
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOI ARE TOLD TO DO S0
T.B.C. : YPL-S-BLU Test Booklet Series

TEST BOOKLET
MATHEMATICS
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOEN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2,  Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheat linhle for rejection.

8. You have to enter vour Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test Booklet containe 120 jitems (guestions). Each item is pripted both in Hindi and English.
Fach item comprises four responses (answers) You will selact the respenze which you want to mark
on the Answer Sheet. In case you feel thal there is more than one correct response, mark the
response which ¥ou- econsider the bost, Iy any-case, choase ONLY, ¥l response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directiona

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response Lo various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admassion Certificate,

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheef. You are permitted to
take away with vou the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i} There are four altornatives for the answer to every question, For each question for which a wrong answer
has been given by the candidate, one-third of the marks assigned to thot question will be deducted a8
penalty.

(i)  If a candidate gives more than one answer, it will be treated as n wrong answer even if one of the given
anawers happens to be correct and there will be same penaliy as above to that question.

(i} If a question is left blank, ie., no answer is given by the candidate, thers will be no penalty for that
fuesELn.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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